
CHEMISTRY

BOOKS - KUMAR PRAKASHAN KENDRA

CHEMISTRY (GUJRATI ENGLISH)

GENERAL PRINCIPLES AND PROCESSES OF

ISOLATION OF ELEMENTS

Examples

1. Suggest a condition under which magnesium could reduce

alumina. The two equations are : 

(a)  


(b) 

Al + O2 → Al2O3
4

3

2

3

2Mg + O2 → 2MgO

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CkOcT4UmIENA


View Text Solution

2. Although thermodynamically feasible, in practice,

magnesium metal is not used for the reduction of alumina in

the metallurgy of aluminium. Why?  

View Text Solution

3. Why is the reduction of a metal oxide easier if the metal

formed is in liquid state at the temperature of reduction ?

View Text Solution

https://dl.doubtnut.com/l/_CkOcT4UmIENA
https://dl.doubtnut.com/l/_3NiPRfo0CT3q
https://dl.doubtnut.com/l/_1NznqNB5J2ck


Section A Questions

4. At a site, low grade copper ores are available and zinc and

iron scraps are also available. Which of the two scraps would

be more suitable for reducing the leached copper ore and

why?

View Text Solution

1. Define the following terms. 

(i) Minerals 

(ii) Ores 

(ii) Metallurgy 

(iv) Gangue

View Text Solution

https://dl.doubtnut.com/l/_u0kCEdtpmMIC
https://dl.doubtnut.com/l/_R7LQ0r3L6J8e


View Text Solution

2. Explain occurence of elements in nature.

View Text Solution

3. Enlist the various steps involved in extraction of metals.

View Text Solution

4. What is concentration of ore?

View Text Solution

5. What is ore benefaction ? 

https://dl.doubtnut.com/l/_R7LQ0r3L6J8e
https://dl.doubtnut.com/l/_e18BzNcE7BkX
https://dl.doubtnut.com/l/_2NIqG7dobQsK
https://dl.doubtnut.com/l/_129WI7SHGOXk
https://dl.doubtnut.com/l/_GY0N7Ln7FfPs


View Text Solution

6. Explain concentration of ore by : 

(i) Hydraulic Washing 

(ii) Magnetic Separation   

View Text Solution

7. Explain concentration of sulphide ores. 

View Text Solution

https://dl.doubtnut.com/l/_GY0N7Ln7FfPs
https://dl.doubtnut.com/l/_JqE2EQ8rbBAG
https://dl.doubtnut.com/l/_w88gxkarO7K2


8. Explain froth floatation process. 

View Text Solution

9. Explain Leaching of: 

(i) Alumina from Bauxite (Bayer's Process) 

(ii) Gold and Silver (Cyanide Process)

View Text Solution

10. Explain isolation of metals from concentrated ore.

View Text Solution

https://dl.doubtnut.com/l/_oujsRdp5u38k
https://dl.doubtnut.com/l/_UXYiZ665zaaR
https://dl.doubtnut.com/l/_NJDKyHmUoA82
https://dl.doubtnut.com/l/_wtp6KK9cvHIO


11. Explain the role of thermodynamics in extraction of

elements. 

View Text Solution

12. Explain how thermodynamics is helfpul in selection of

reducing agent for metallurgical operations.   

View Text Solution

13. Explain theory of reduction of oxide of metal with carbon

as a reducing agent.

View Text Solution

https://dl.doubtnut.com/l/_wtp6KK9cvHIO
https://dl.doubtnut.com/l/_jDLTHeJyy14j
https://dl.doubtnut.com/l/_PGb270QgQaH6


14. Explain the role of reducing agent in a reduction of metal

oxides.

View Text Solution

15. State the important features of Ellingham diagram. Also

state its limitation.  

View Text Solution

16. Explain extraction of iron from its oxides.

View Text Solution

https://dl.doubtnut.com/l/_gejG7vh4BWRZ
https://dl.doubtnut.com/l/_MYLH2xmatfaS
https://dl.doubtnut.com/l/_xV0kdwxMkHXi
https://dl.doubtnut.com/l/_40skmGDFuHiT


17. Explain thermodynamics of extraction of iron from its

oxide. 

View Text Solution

18. Explain extraction of : (i) Copper from Copper(I) Oxide (ii)

Zinc from zinc oxide.

View Text Solution

19. Explain electrometallurgy in detail. 

View Text Solution

https://dl.doubtnut.com/l/_40skmGDFuHiT
https://dl.doubtnut.com/l/_fxJQsOcIqjnl
https://dl.doubtnut.com/l/_xXunk8XCO1rU


20. Explain hydrometallurgical process with suitable

example.

View Text Solution

21. Explain Hall-Heroult process. 

View Text Solution

22. Explain electrolytic reduction of alumina. 

View Text Solution

https://dl.doubtnut.com/l/_otWrVE5nU8vc
https://dl.doubtnut.com/l/_xonj24ryFwXp
https://dl.doubtnut.com/l/_HC2Fo76Rfzn8
https://dl.doubtnut.com/l/_AsgnS5KLSlb4


23. Explain extraction of elements by oxidation.

View Text Solution

24. Explain zone refining process.

View Text Solution

25. Explain refining by fractional crystallization.

View Text Solution

26. Explain vapour phase refining.

View Text Solution

https://dl.doubtnut.com/l/_AsgnS5KLSlb4
https://dl.doubtnut.com/l/_GaVN8NUCCyR3
https://dl.doubtnut.com/l/_5l0ydw0PM0FC
https://dl.doubtnut.com/l/_yrKO9Mg2rB9l


27. Explain electrolytic refining.

View Text Solution

28. Explain refining by Distillation and Liquation.

View Text Solution

29. Explain chromatographic methods to refine the elements.

View Text Solution

30. States uses of aluminium, copper, zinc and iron.

Vi T t S l ti

https://dl.doubtnut.com/l/_yrKO9Mg2rB9l
https://dl.doubtnut.com/l/_tiUYeHvXNAgj
https://dl.doubtnut.com/l/_0K2tvuLP4pyX
https://dl.doubtnut.com/l/_LwUIZhWJqurR
https://dl.doubtnut.com/l/_lXXMshTkfCPS


Section B Intext Questions And Answers

View Text Solution

1. Which of the ores mentioned in a table can be

concentrated by magnetic separation method ?

View Text Solution

2. What is the significance of leaching in the extraction of

aluminium ?

View Text Solution

https://dl.doubtnut.com/l/_lXXMshTkfCPS
https://dl.doubtnut.com/l/_fySk0VUcxjUz
https://dl.doubtnut.com/l/_8p6cOt0WkCCS


Section C Textual Exercise

3. The reaction,

 is

thermodynamically feasible as is apparent from the Gibb's

energy value. Why does it not take place at room

temperature ? 

View Text Solution

Cr2O3 + 2Al → Al2O3 + 2Cr, (ΔrG
0 = − 421kJ)

4. Is it true that under certain conditions, Mg can reduce

 can reduce MgO ? What are those conditions

?

View Text Solution

Al2O3 and Al

https://dl.doubtnut.com/l/_lIP8jRcfYb58
https://dl.doubtnut.com/l/_4FMa2KJmipsZ


1. Copper can be extracted by hydrometallurgy but not zinc.

Explain.

View Text Solution

2. What is the role of depressant in froth floatation process ?

View Text Solution

3. Why is the extraction of copper from pyrites more difficult

than that from its oxide ore through reduction ?

View Text Solution

https://dl.doubtnut.com/l/_8W1ilOFjlaZ2
https://dl.doubtnut.com/l/_cVTLbA2TI4JA
https://dl.doubtnut.com/l/_RWwAtrP7zCLX


4. Explain : (i) Zone refining 

(ii) Column chromatography.

View Text Solution

5. Out of C and CO, which is a better reducing agent at 673

K?

View Text Solution

6. Name the common elements present in the anode mud in

electrolytic refining of copper. Why are they so present ?

View Text Solution

https://dl.doubtnut.com/l/_vUXmUR04sT5z
https://dl.doubtnut.com/l/_mpY2RoBAViir
https://dl.doubtnut.com/l/_WiULFxTTy01S
https://dl.doubtnut.com/l/_LK25gdUjMOhk


7. Write chemical reactions taking place in the extraction of

zinc from zinc blende.

View Text Solution

8. State the role of silica in the metallurgy of copper.

View Text Solution

9. What is meant by the term "Chromatography" ?

View Text Solution

10. What criterion is followed for the selection of the

stationary phase in chromatography ?

https://dl.doubtnut.com/l/_LK25gdUjMOhk
https://dl.doubtnut.com/l/_WnA1FLVzmXKs
https://dl.doubtnut.com/l/_zYF5BbsdHbmF
https://dl.doubtnut.com/l/_AUYL7tGWo5Ly


View Text Solution

11. Describe a method for refining nickel.

View Text Solution

12. How can you separate alumina from silica in a bauxite ore

associated with silica ? Give equations, if any.

View Text Solution

13. Giving examples, differentiate between ‘roasting' and

'calcination'.

View Text Solution

https://dl.doubtnut.com/l/_AUYL7tGWo5Ly
https://dl.doubtnut.com/l/_qnFqySwgtMOm
https://dl.doubtnut.com/l/_6CNpjsG7OEnE
https://dl.doubtnut.com/l/_BupehFsfkjYY


14. How is 'cast iron' different from 'pig iron' ?

View Text Solution

15. Differentiate between "minerals" and "ores".

View Text Solution

16. Why copper matte is put in silica lined converter ?

View Text Solution

https://dl.doubtnut.com/l/_BupehFsfkjYY
https://dl.doubtnut.com/l/_7focQPjidaBr
https://dl.doubtnut.com/l/_I7Gnw8uRK3QD
https://dl.doubtnut.com/l/_PZ2MTiyTobcw


17. What is the role of cryolite in the metallurgy of

aluminium ?

View Text Solution

18. How is leaching carried out in case of low grade copper

ores ?

View Text Solution

19. Why is zinc not extracted from zinc oxide through

reduction using CO ?

View Text Solution

https://dl.doubtnut.com/l/_d1Ud2pJhLH6y
https://dl.doubtnut.com/l/_cwAK71eAqdbB
https://dl.doubtnut.com/l/_AdGengTNuifo
https://dl.doubtnut.com/l/_NwAi1V1h95uN


20. The value of  for formation of  is 

 and that of  is . Is the

reduction of  possible with Al ?

View Text Solution

ΔG∘ Cr2O3

−540kJmol− 1 Al2O3 −827kJmol− 1

Cr2O3

21. Out of C and CO which is a better reducing agent for ZnO

?

View Text Solution

22. The choice of a reducing agent in a particular case

depends on thermodynamic factor. How far do you agree

with this statement ? Support your opinion with two

examples.

https://dl.doubtnut.com/l/_NwAi1V1h95uN
https://dl.doubtnut.com/l/_vdf3qCJesEbv
https://dl.doubtnut.com/l/_zB7KTHxBpQmT


View Text Solution

23. Name the processes from which chlorine is obtained as a

by-product. What will happen if an aqueous solution of NaCl

is subjected to electrolysis ?

View Text Solution

24. What is the role of graphite rod in the electro metallurgy

of aluminium ?

View Text Solution

https://dl.doubtnut.com/l/_zB7KTHxBpQmT
https://dl.doubtnut.com/l/_Kc4oYO09fmYt
https://dl.doubtnut.com/l/_ZRAX1ujXWOl6


Section D Ncert Exemplar Solutions Multiple Choice Questions

25. Predict conditions under which Al might be expected to

reduce MgO.

View Text Solution

1. In the extraction of chlorine by electrolysis of brine......

A. oxidation of  ion to chlorine gas occurs.

B. reduction of ion to chlorine gas occurs.

C. for overall reaction  has negative value.

D. a displacement reaction takes place.

Answer: A

CI −

Cl−

ΔG∘

https://dl.doubtnut.com/l/_EB798uanV1uk
https://dl.doubtnut.com/l/_R4NrDrXheGCd


View Text Solution

2. When copper ore is mixed with silica, in a reverberatory

furnace copper matte is produced. The copper matte

contains

A. Sulphides of copper (II) and iron (II)

B. Sulphides of copper (II) and iron (III)

C. Sulphides of copper (I) and iron (II)

D. Sulphides of copper (I) and iron (III)

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_R4NrDrXheGCd
https://dl.doubtnut.com/l/_N2pLRDeJ0Tr8


3. Which of the following reactions is an example of

autoreduction ?

A. 

B. 

C. 

D. .

Answer: D

View Text Solution

Fe3O4 + 4CO → 3Fe + 4CO2

Cu2O + C → 2Cu + CO

Cu2 +
( aq )

+ Fe ( s ) → Cu ( s ) + Fe2 +
( aq )

Cu2O + Cu2S → 3Cu + SO2

1

2

1

2

4. A number of elements are available in earth's crust but

most abundant elements are     

https://dl.doubtnut.com/l/_yN7TYfTqWRKQ
https://dl.doubtnut.com/l/_v8NjLDzJN2sO


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Al and Fe

Al and Cu

Fe and Cu

Cu and Ag

5. Zone refining is based on the principle that....

A. Impurities of low boiling metals can be separated by

distillation.

B. Impurities are more soluble in molten metal than in

solid metal.

https://dl.doubtnut.com/l/_v8NjLDzJN2sO
https://dl.doubtnut.com/l/_DsHow5uRMLUy


C. Different components of a mixture are differently

adsorbed on an adsorbent.

D. Vapours of volatile compound can be decomposed in

pure metal.

Answer: B

View Text Solution

6. In the extraction of copper from its sulphide ore, the

metal is formed by the reduction of CuO with....

A. 

B. 

C. 

FeS

CO

Cu2S

https://dl.doubtnut.com/l/_DsHow5uRMLUy
https://dl.doubtnut.com/l/_fWUWCvJbPR96


D. 

Answer: C

View Text Solution

SO2

7. Brine is electrolysed by using inert electrodes. The

reaction at anode is ........   

A. 

B. 

C. 

D. 

Answer: A

Vi T t S l ti

Cl−
( aq )

→ Cl2 ( g ) − e − , E Θ
( cell )

= 1.36V
1

2

2H2O ( l ) → O2 ( g ) + 4H +
( aq )

+ 4e − , E
( cell )

Θ
= 1.23V

Na +
( aq )

+ e − → Na ( s ) , E ( cell ) Θ = 2.71V

H +
( aq )

+ e − → H2 ( g ) , E Θ
(cell)

= 0.00V
1

2

https://dl.doubtnut.com/l/_fWUWCvJbPR96
https://dl.doubtnut.com/l/_enEFIhrYwyCL


View Text Solution

8. In the metallurgy of aluminium

A.  is oxidised to 

B. Graphite anode is oxidised to carbon monoxide and

carbon dioxide.

C. Oxidation state of oxygen changes in the reaction at

anode.

D. Oxidation state of oxygen changes in the overall

reaction involved in the process.

Answer: B

View Text Solution

Al3 + Al ( s )

https://dl.doubtnut.com/l/_enEFIhrYwyCL
https://dl.doubtnut.com/l/_gte3DbgyCA6z


9. Electrolytic refining is used to purify which of the

following metals ?

A. Cu and Zn

B. Ge and Si

C. Zr and Ti

D. Zn and Hg

Answer: A

View Text Solution

10. Extraction of gold and silver involves leaching the metal

with CN-ion. The metal is recovered by ...........

https://dl.doubtnut.com/l/_3meeJ21HMKey
https://dl.doubtnut.com/l/_jxGo9sgqwLHS


A. Displacement of metal by some other metal from the

complex ion.

B. Roasting of metal complex.

C. Calcination followed by roasting.

D. Thermal decomposition of metal complex.

Answer: A

View Text Solution

11. Choose the correct option of temperature at which

carbon reduces  to iron and produces CO.  

A. Below temperature at point A.  

FeO

https://dl.doubtnut.com/l/_jxGo9sgqwLHS
https://dl.doubtnut.com/l/_RjJqRxreg2KH


B. Approximately at the temperature corresponding to

point A.  

C. Above temperature at point A but below temperature

at point D.  

D. Above temperature at point A. 

Answer: D

View Text Solution

12. Below point ‘A’ FeO can  

A. be reduced by carbon monoxide only.  

B. be reduced by both carbon monoxide and carbon.  

C. be reduced by carbon only.  

https://dl.doubtnut.com/l/_RjJqRxreg2KH
https://dl.doubtnut.com/l/_tcHkeNsMNn9C


D. not be reduced by both carbon and carbonmonoxide. 

Answer: A

View Text Solution

13. For the reduction of Feo at the temperature

corresponding to point D, which of the following statements

is correct? 

A.  value for the overall reduction reaction with

carbon monoxide is zero. 

B.  value for the overall reduction reaction with a

mixture of 1 mol carbon and 1 mol oxygen is positive.  

ΔG∘

ΔG∘

https://dl.doubtnut.com/l/_tcHkeNsMNn9C
https://dl.doubtnut.com/l/_ZQe91gsJRCp7


Section D Ncert Exemplar Solutions Multiple Choice Questions

More Than One Options

C.  value for the overall reduction reaction with a

mixture of 2 mol carbon and 1 mol oxygen will be

positive.  

D.  value for the overall reduction reaction with

carbon monoxide is negative.

Answer: A

View Text Solution

ΔG∘

ΔG∘

1. At the temperature corresponding to which of the points

in Figure, FeO will be reduced to Fe by coupling the reaction

https://dl.doubtnut.com/l/_ZQe91gsJRCp7
https://dl.doubtnut.com/l/_ElQ8BtmL2pQ3


 with all of the following reactions ? 


   (1)    (2)  and (3)

A. Point A  

B. Point B  

C. Point D  

D. Point E 

Answer: B::D

View Text Solution

2FeO → 2Fe + O2

C + O → CO2 2C + O2 + 2CO

2CO + O2 → 2CO2

2. Which of the following options are correct?  

https://dl.doubtnut.com/l/_ElQ8BtmL2pQ3
https://dl.doubtnut.com/l/_PFhwfYIsuCNb


A. Cast iron is obtained by remelting pig iron with scrap

iron and coke using hot air blast.  

B. In extraction of silver, silver is extracted as cationic

complex.  

C. Nickel is purified by zone refining.  

D. Zr and Ti are purified by Van Arkel method. 

Answer: A::D

View Text Solution

3. In the extraction of aluminium by Hall-Heroult process,

purified  is mixed with  to...  

A. Lower the melting point of .  

Al2O3 CaF2

Al2O3

https://dl.doubtnut.com/l/_PFhwfYIsuCNb
https://dl.doubtnut.com/l/_fBug1IDyrkRq


B. Increase the conductivity of molten mixture.  

C. Reduce  into   

D. Acts as catalyst.   

Answer: A::B

View Text Solution

Al3 + Al ( s )

4. Which of the following statements is correct about the

role of substances added in the froth floatation process ?  

A. Collectors enhance the non-wettability of the mineral

particles.  

B. Collectors enhance the wettability of gangue

particles.  

https://dl.doubtnut.com/l/_fBug1IDyrkRq
https://dl.doubtnut.com/l/_bLBoK3lNPgOx


C. By using depressants in the process two sulphide ores

can be separated.  

D. Froth stabilisers decrease wettability of gangue. 

Answer: A::C

View Text Solution

5. In the Froth Floatation process, zinc sulphide and lead

sulphide can be separated by  ……….

A. Using collectors.  

B. Adjusting the proportion of oil to water.  

C. Using depressant.  

D. Using froth stabilisers. 

https://dl.doubtnut.com/l/_bLBoK3lNPgOx
https://dl.doubtnut.com/l/_wCsSR3AIc2By


Answer: B::C

View Text Solution

6. Common impurities present in bauxite are.....  

A. CuO 

B. ZnO  

C.   

D. 

Answer: C::D

View Text Solution

Fe2O3

SiO2

https://dl.doubtnut.com/l/_wCsSR3AIc2By
https://dl.doubtnut.com/l/_43R6OzwqVd28


7. Which of the following ores are concentrated by froth

floation ?  

A. Haematite  

B. Galena  

C. Copper pyrites  

D. Magnetite 

Answer: B::C

View Text Solution

8. Which of the following reactions occur during calcination

? 

https://dl.doubtnut.com/l/_dn1ngwbTUuAJ
https://dl.doubtnut.com/l/_oBxYpAyDp4Wo


A.  

B. 

C. 

D.  

Answer: A::C

View Text Solution

CaCO3 → CaO + CO2

2FeS2 + O2 → Fe2O3 + 4SO2

11

2

Al2O3. xH2O → Al2O3 + xH2O

ZnS + O2 → ZnO + SO2

3

2

9. For the metallurgical process of which of the ores calcined

ore can be reduced by carbon ? 

A. Haematite 

B. Calamine 

C. Iron pyrites 

https://dl.doubtnut.com/l/_oBxYpAyDp4Wo
https://dl.doubtnut.com/l/_h9Oha3nGGXup


D. Sphalerite 

Answer: A::B

View Text Solution

10. The main reactions occurring in blast furnace during

extraction of iron from haematite are.... 

A.  

B. 

C.  

D. 

Answer: A::D

Vi T t S l ti

Fe2O3 + 3CO → 2Fe + 3CO2

FeO + SiO2 → FeSiO3

Fe2O3 + 3C → 2Fe + 3CO

CaO + SiO2 → CaSiO3

https://dl.doubtnut.com/l/_h9Oha3nGGXup
https://dl.doubtnut.com/l/_T1p9c2qZJ0vf


View Text Solution

11. In which of the following method of purification, metal is

converted to its volatile compound which is decomposed to

give pure metal ? 

A. Heating with stream of carbon monoxide. 

B. Heating with iodine. 

C. Liquation. 

D. Distillation. 

Answer: A::B

View Text Solution

https://dl.doubtnut.com/l/_T1p9c2qZJ0vf
https://dl.doubtnut.com/l/_d4yez1fYFSYx


12. Which of the following statements are correct? 

A. A depressant prevents certain type of particle to come

to the froth. 

B. Copper matte contains  and .

C. The solidified copper obtained from reverberatory

furnace has blistered appearance due to evolution of

 during the extraction. 

D. Zinc can be extracted by self-reduction. 

Answer: A::C

View Text Solution

Cu2S ZnS

SO2

https://dl.doubtnut.com/l/_hG106AOElo5l


Section D Ncert Exemplar Solutions Short Answer Type

Questions

13. In the extraction of chlorine from brine ....... 

A.  for the overall reaction is negative. 

B.  for the overall reaction is positive. 

C.  for overall reaction has negative value. 

D.  for overall reaction has positive value. 

Answer: B::C

View Text Solution

ΔG∘

ΔG∘

E ∘

E ∘

https://dl.doubtnut.com/l/_V52S21F1iYbj


1. Why is an external emf of more than 2.2 V required for the

extraction of  from brine ?

View Text Solution

Cl2

2. At temperatures above 1073 K coke can be used to reduce

FeO to Fe. How can you justify this reduction with Ellingham

diagram? 

View Text Solution

3. Wrought iron is the purest form of iron. Write a reaction

used for the preparation of wrought iron from cast iron.

How can the impurities of sulphur, silicon and phosphorus

be removed from cast iron ?  

https://dl.doubtnut.com/l/_n3kshxjpWjGu
https://dl.doubtnut.com/l/_e8xopymAJX1a
https://dl.doubtnut.com/l/_QCd0mMhLraeI


View Text Solution

4. How is copper extracted from low grade copper ores ? 

View Text Solution

5. Write two basic requirements for refining of a metal by

Mond's process and by Van-Arkel Method. 

View Text Solution

6. Although carbon and hydrogen are better reducing

agents but they are not used to reduce metallic oxides at

high temperatures. Why? 

https://dl.doubtnut.com/l/_QCd0mMhLraeI
https://dl.doubtnut.com/l/_s23rN0HXkFhB
https://dl.doubtnut.com/l/_vrV9gq6mCHRG
https://dl.doubtnut.com/l/_Eo2NaArDZelM


View Text Solution

7. The purest form of iron is prepared by oxidising impurities

from cast iron in a reverberatory furnace. Which iron ore is

used to line the furnace ? Explain by giving reaction. 

View Text Solution

8. The mixture of compounds A and B is passed through a

column of  by using alcohol as eluant. Compound A is

eluted in preference to compound B. Which of the

compounds A or B. is more readily adsorbed on the column

? 

View Text Solution

Al2O3

https://dl.doubtnut.com/l/_Eo2NaArDZelM
https://dl.doubtnut.com/l/_X5Cbh2pLpZSg
https://dl.doubtnut.com/l/_hrgmt14GSs54
https://dl.doubtnut.com/l/_oQ7uTttDYJEX


9. Why is sulphide ore of copper heated in a furnace after

mixing with silica ? 

View Text Solution

10. Why are sulphide ores converted to oxide before

reduction ? 

View Text Solution

11. Which method is used for refining Zr and Ti ? Explain with

equation. 

View Text Solution

https://dl.doubtnut.com/l/_oQ7uTttDYJEX
https://dl.doubtnut.com/l/_762PLSGcKgfZ
https://dl.doubtnut.com/l/_UitgaGnX8XPX
https://dl.doubtnut.com/l/_KAmT1eZYeQYy


12. What should be the considerations during the extraction

of metals by electrochemical method ? 

View Text Solution

13. What is the role of flux in metallurgical processes? 

View Text Solution

14. How are metals used as semiconductors refined ? What is

the principle of the method used like germinum, silicon etc.? 

View Text Solution

https://dl.doubtnut.com/l/_KAmT1eZYeQYy
https://dl.doubtnut.com/l/_cNzUuk09uCMO
https://dl.doubtnut.com/l/_DvhW42GG93dp


15. Write down the reactions taking place in Blast furnace

related to the metallurgy of iron in the temperature range

500-800 K.   

View Text Solution

16.  Give two requirements for vapour phase refining. 

View Text Solution

17. Write the chemical reactions involved in the extraction of

gold by cyanide process. Also give the role of zinc in the

extraction. 

View Text Solution

https://dl.doubtnut.com/l/_wKlcb6gzT7bv
https://dl.doubtnut.com/l/_BcAbBVUac3yN
https://dl.doubtnut.com/l/_DKXjDnyogKbd


Section D Ncert Exemplar Solutions Assertion And Reason Type

1. Assertion : Nickel can be purified by Mond's process. 

Reason:  is a volatile compound which decomposes

at 460 K to give pure Ni. 

A. Both assertion and reason are true and reason is the

correct explanation of assertion. 

B. Both assertion and reason are true but reason is not

the correct explanation of assertion. 

C. Assertion is true but reason is false. 

D. Assertion is false but reason is true. 

Answer: A

Ni(CO)4

https://dl.doubtnut.com/l/_DKXjDnyogKbd
https://dl.doubtnut.com/l/_gIneOrePVx49


View Text Solution

2. Assertion : Zirconium can be purified by Van Arkel method. 

Reason :  is volatile and decomposes at 1800 K 

A. Both assertion and reason are true and reason is the

correct explanation of assertion. 

B. Both assertion and reason are true but reason is not

the correct explanation of assertion. 

C. Assertion is true but reason is false. 

D. Assertion is false but reason is true. 

Answer: A

View Text Solution

Zrl4

https://dl.doubtnut.com/l/_gIneOrePVx49
https://dl.doubtnut.com/l/_tGArb5Ml405I


3. Assertion : Sulphide ores are concentrated by Froth

Flotation method. 

Reason : Cresols stabiles the froth in Froth Flotation

method, 

A. Both assertion and reason are true and reason is the

correct explanation of assertion. 

B. Both assertion and reason are true but reason is not

the correct explanation of assertion. 

C. Assertion is true but reason is false. 

D. Assertion is false but reason is true. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_tGArb5Ml405I
https://dl.doubtnut.com/l/_0ELKC9JxB8UY


4. Assertion : Zone refining method is very useful for

roducing semiconductors. 

Reason: Semiconductors are of high purity. 

A. Both assertion and reason are true and reason is the

correct explanation of assertion. 

B. Both assertion and reason are true but reason is not

the correct explanation of assertion. 

C. Assertion is true but reason is false. 

D. Assertion is false but reason is true. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_0ELKC9JxB8UY
https://dl.doubtnut.com/l/_PlmWt0Zb2U14


5. Assertion : Hydrometallurgy involves dissolving the ore in

a suitable reagent followed by precipitation by a more

electropositive metal. 

Reason: Copper is extracted by hydrometallurgy. 

A. Both assertion and reason are true and reason is the

correct explanation of assertion. 

B. Both assertion and reason are true but reason is not

the correct explanation of assertion. 

C. Assertion is true but reason is false. 

D. Assertion is false but reason is true. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_uw6S6a6cshiT


Section D Ncert Exemplar Solutions Long Anser Type Question

1. Explain the following: 

(a)  is a better reducing agent below 710 K whereas CO

is a better reducing agent above 710 K. 

(b) Generally sulphide ores are converted into oxides before

reduction. 

(c) Silica is added to the sulphide ore of copper in the

reverberatory furnace. 

(d) Carbon and hydrogen are not used as reducing agents at

high temperatures. 

(e) Vapour phase refining method is used for the purification

of Ti. 

View Text Solution

CO2

https://dl.doubtnut.com/l/_hkhT70Z8fKsK


Section E Darpan S Exam Oriented Mcqs

1. Gemstone is an impure form of .......... 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Cu2O

Cr2O3

Mn2O3

Al2O3

2. Chemical reduction is not suitable for ........... 

https://dl.doubtnut.com/l/_zoWMqkQVytCV
https://dl.doubtnut.com/l/_u1GonuaXlfS1


A. Conversion of bauxite to aluminium 

B. Conversion of cuprite to copper 

C. Conversion of haematite to iron 

D. Conversion of zinc oxide to zinc 

Answer: A

View Text Solution

3. Vacuum distillation is used to refine 

A. Cu 

B. Sn 

C. Ni 

D. Hg 

https://dl.doubtnut.com/l/_u1GonuaXlfS1
https://dl.doubtnut.com/l/_Kg69cvu5Eifp


Answer: D

View Text Solution

4. Steel containing nickel is used in .......... 

A. Agricultural tools 

B. Machines for grindings 

C. In preparation of anchors 

D. Pendulums 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_Kg69cvu5Eifp
https://dl.doubtnut.com/l/_7TsEcRc9CwtU


5. The element obtained by auto reduction process is ............ 

A. Zn 

B. Fe 

C. Ni 

D. Cu 

Answer: D

View Text Solution

6. In the cyanide process for extraction of gold and silver

from ores, the cyanide solution acts as a………

A. leaching agent to bring ores into solution. 

https://dl.doubtnut.com/l/_hRiUD5vccmkC
https://dl.doubtnut.com/l/_XiYYw5gtcMym


B. leaching agent to dissolve all other constituents of

ores leaving the gold and silver as mtals. 

C. leaching agent to bring the gold and silver into

solution as cyanide compexes and thus seperate these

metals from the ores. 

D. reducing agent to reduce the gold and silver

compounds present in the ores into the metallic

states. 

Answer: C

View Text Solution

7. Froth stabilizers in froth floatation process is... 

https://dl.doubtnut.com/l/_XiYYw5gtcMym
https://dl.doubtnut.com/l/_nGLWb4Z8zyn8


A. Cresol 

B. Pine oil 

C. Sodium ethyl xanthate 

D. Cyanide complex of sodium 

Answer: A

View Text Solution

8. The purest form of iron is 

A. Pig iron 

B. White cast iron 

C. Malleable iron 

D. Grey cast iron 

https://dl.doubtnut.com/l/_nGLWb4Z8zyn8
https://dl.doubtnut.com/l/_6E7NDwWbDZTw


Answer: C

View Text Solution

9. The extraction of which element involves the formation of

complex compound ? 

A. Zn 

B. Ag 

C. Hg 

D. Cu 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_6E7NDwWbDZTw
https://dl.doubtnut.com/l/_PQRHuWLLKJ7T
https://dl.doubtnut.com/l/_USo3o21dFgKs


10. During leaching of bauxite, hydroxides of which elements

are precipitated ? 

A. Fe and Al 

B. Fe and Ti 

C. Ti and Cu 

D. Zn and Ti 

Answer: B

View Text Solution

11. The function of flux is...... 

A. to carry out reduction. 

https://dl.doubtnut.com/l/_USo3o21dFgKs
https://dl.doubtnut.com/l/_OpEaZKYozPSI


B. to carry out oxidation. 

C. to remove impurities.

D. to make free energy change of the reaction negative. 

Answer: C

View Text Solution

12. During the extraction of copper, the concentrated ore is

roasted so to remove the impurities of .. .. 

A. As and Sb 

B. Sb and Fe 

C. Fe and As 

D. Fe and s 

https://dl.doubtnut.com/l/_OpEaZKYozPSI
https://dl.doubtnut.com/l/_i7x6wTV3PyiY


Answer: A

View Text Solution

13. For the reaction : 

 The free

energy change is equal to ..........

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

2Cl−
( aq )

+ 2H2O ( l ) → 2OH −
( aq )

+ H2 + Cl2 ( l )

−242kJ

+242kJ

+422kJ

−422kJ

https://dl.doubtnut.com/l/_i7x6wTV3PyiY
https://dl.doubtnut.com/l/_G8L1uxzFOe5i


14. Thomas slag is prepared by reaction between… 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

MnO and SiO2

Cao and SiO2

CaO and P4O10

FeO and SiO2

15. Bauxite No

 


The flow sheet is for ........ 

+ C
−−−−−→

N2

AIN
CO

H2O
−−→ Al(OH)3

Δ
−−→ Al2O3 + NH3

https://dl.doubtnut.com/l/_G8L1uxzFOe5i
https://dl.doubtnut.com/l/_xYP2vh0DiKVx
https://dl.doubtnut.com/l/_9v384GAEsxFI


A. Bayer's process 

B. Serpeck's process 

C. Hall-Heroult process 

D. Kroll's process 

Answer: B

View Text Solution

16. Goldschmidt thermite process is used for .. . 

A. welding of broken iron pieces. 

B. converting iron into steel. 

C. extraction of sulphur. 

D. reduction of metallic oxide by magnesium

https://dl.doubtnut.com/l/_9v384GAEsxFI
https://dl.doubtnut.com/l/_r8cvcgrFJNWm


Answer: A

View Text Solution

17. Which of the following oxide is reduced by an acceptance

of electrons ? 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Fe2O3

Al2O3

ZnO

PbO

https://dl.doubtnut.com/l/_r8cvcgrFJNWm
https://dl.doubtnut.com/l/_VnQGbUBs80Z0
https://dl.doubtnut.com/l/_O1O9Z8VlKRWc


18. In which of the following do the ranges of temperature

play an important role ? 

A. Electrolysis 

B. Liquation 

C. Zone refining 

D. Blast furnace 

Answer: D

View Text Solution

19. Which principle is involved in chromatography ? 

A. Hydration 

https://dl.doubtnut.com/l/_O1O9Z8VlKRWc
https://dl.doubtnut.com/l/_ZINc5jv5x9TP


B. Decomposition 

C. Precipitation 

D. Adsorption 

Answer: D

View Text Solution

20. Cast iron is not used in .......... 

A. Anchors 

B. Stoves 

C. Railways 

D. Pipes of gutter 

https://dl.doubtnut.com/l/_ZINc5jv5x9TP
https://dl.doubtnut.com/l/_XJ6KWK1XITBM


Answer: A

View Text Solution

21. The reducing agent in electrolysis of alumina 

A. 

B. 

C. Graphite 

D. 

Answer: C

View Text Solution

CaF2

Na2AIF6

Al2O3

https://dl.doubtnut.com/l/_XJ6KWK1XITBM
https://dl.doubtnut.com/l/_kaEnJlNQjb1n


22. Which ore has more than one metal present in it ? 

A. Copper pyrite 

B. Iron pyrite 

C. Calamine 

D. Siderite 

Answer: A

View Text Solution

23. Copper matte is ......... 

A. 

B. 

CuS + Fes

FeS + Cu2S

https://dl.doubtnut.com/l/_nCqMdskxIOJN
https://dl.doubtnut.com/l/_Ibttjpq3Ui2O


C.  

D. 

Answer: B

View Text Solution

FeO + Cu2S

FeS + Cu2O

24. The methods cheifly used for the extraction of lead and

zinc from their ores are respectively 

A. self-reduction and carbon reduction. 

B. carbon reduction and self-reduction. 

C. cyanide process and carbon reduction. 

D. carbon reduction and cyanide process. 

https://dl.doubtnut.com/l/_Ibttjpq3Ui2O
https://dl.doubtnut.com/l/_5l7yJQOBTkTl


Answer: A

View Text Solution

25. The ore after concentration is found to have basic

impurities. Which of the following can be used as flux ? 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

MgO

CaCO3

FeO

SiO2

https://dl.doubtnut.com/l/_5l7yJQOBTkTl
https://dl.doubtnut.com/l/_iYVpxK4cqHJt
https://dl.doubtnut.com/l/_NDQFHMEGb3xt


26. Which of the following metals are extracted by

hydrometallurgy? 

A. Fe 

B. Au

C. Mg 

D. Pb 

Answer: B

View Text Solution

27. The metallurgical process in which the metal obtained in

fused state is called .......... 

https://dl.doubtnut.com/l/_NDQFHMEGb3xt
https://dl.doubtnut.com/l/_ypYSv517CVaM


A. Roasting 

B. Smelting 

C. Froth floatation 

D. Calcination 

Answer: B

View Text Solution

28. Which of the following acts an activator in froth

floatation process ? 

A. KCN 

B. Sodium methyl xanthate 

C. Cresol 

https://dl.doubtnut.com/l/_ypYSv517CVaM
https://dl.doubtnut.com/l/_Yxtg2Y0sDMfF


D. 

Answer: D

View Text Solution

CuSO4

29. Which of the following acts as neutral refractories ? 

A. Magnesite 

B. Dolomite 

C. Quartz 

D. Chromite 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_Yxtg2Y0sDMfF
https://dl.doubtnut.com/l/_GPLcIiRusvr8


30. In cyanidation of gold and silver the formation of HCN is

prevented by addition of ........ 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

H2SO4

NaCN

NaOH

Pb(NO3)2

31. CO is used in metallurgy of .. 

A. Cu 

https://dl.doubtnut.com/l/_plr9IHmxpI7x
https://dl.doubtnut.com/l/_2ufdl8oi3X8F


B. Ni

C. Cr 

D. Pt 

Answer: B

View Text Solution

32. In blast furnace,  is reduced by ....... 

A. C 

B. 

C. CO 

D. 

Fe2O3

H2

CO2

https://dl.doubtnut.com/l/_2ufdl8oi3X8F
https://dl.doubtnut.com/l/_aQKXPdAu8E77


Answer: C

View Text Solution

33. Poling process is used ......... 

A. for removal of  from Fe. 

B. for removal of  from Al. 

C. for removal of  from Cu. 

D. for removal of ZnO from Zn. 

Answer: C

View Text Solution

Fe2O3

Al2O3

Cu2O

https://dl.doubtnut.com/l/_aQKXPdAu8E77
https://dl.doubtnut.com/l/_UsBz8Csf4yHI


34. Alumina with considerable impurity of silica is purified by

....... 

A. Hall-Heroult process 

B. Hoope's process 

C. Serpeck's process 

D. Bayer's process 

Answer: C

View Text Solution

35. Silver with impurity of lead is refined by ......... 

A. Vapour phase refining 

https://dl.doubtnut.com/l/_OcAEmtMpQI40
https://dl.doubtnut.com/l/_tIJeqnYXGInu


B. Electrolytic refining 

C. Cupellation 

D. Chromatography 

Answer: C

View Text Solution

36. Copper is extracted from its ore copper pyrite throupgh

the scheme given below : 

 

 


THe Compound X and Y are respectively.

A.  

Copper pyrite
Roasting
−−−−→ X + Y


+ SO2

↑⏐
⏐⏐
                            +Coke

flux
⏐⏐↓

smelting

Crude
Copper metal

Bessemerisation
←−−−−−−−− Molten matte slag

Cu2S and FeO

https://dl.doubtnut.com/l/_tIJeqnYXGInu
https://dl.doubtnut.com/l/_fKicFZFQ5qqr


B. 

C. 

D. 

Answer: C

View Text Solution

Cu2S and Fe2O3

Cu2S and FeS

Cus and Fes

37. The formula of azurite is ........... 

A. 

B. 

C. 

D. 

CuCO3 ⋅ Cu(OH)2

CuSO3 ⋅ Cu(OH)2

2CuCO3 ⋅ Cu(OH)2

CuCO2 ⋅ Cu(OH)2

https://dl.doubtnut.com/l/_fKicFZFQ5qqr
https://dl.doubtnut.com/l/_PYgjXNiM3MIv


Answer: C

View Text Solution

38. A black mineral on roasting breaks up into two

compounds A and B with the liberation of gas C. When air is

passed through the molten mixture of A and B, B converts

into oxide that can be reduced by air. The mineral is .......... 

A. Chalcocite 

B. Feldspar 

C. Chalcopyrite 

D. Pyrargyrite 

Answer: C

https://dl.doubtnut.com/l/_PYgjXNiM3MIv
https://dl.doubtnut.com/l/_Q1LPAISklsT9


View Text Solution

39. In a mixture of  each component is

separated from other by using the reagents in the following

sequence in froth floatation process. 

A. Potassium ethyl xanthate, KCN. 

B. Potassium ethyl xanthate, KCN, NaOH, copper sulphate,

acid. 

C.  acid. 

D. Potassium ethyl xanthate, copper sulphate, NaOH, KCN,

acid. 

Answer: B

View Text Solution

PbS, ZnS and FeS2

KCN, CuSO4

https://dl.doubtnut.com/l/_Q1LPAISklsT9
https://dl.doubtnut.com/l/_7ZonP8DAW4Du


40. Speigel, used in the manufacture of steel by the

Bessemer process, is an alloy of..... 

A.  iron, chromium and carbon. 

B. iron, manganese and carbon. 

C. iron, tungstan and carbon. 

D. iron, nickel and carbon. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_7ZonP8DAW4Du
https://dl.doubtnut.com/l/_WdGdYKkslGM4


41. Chromium is obtained by reducing purified chromite ore

with.... 

A. red hot coke 

B. carbon monoxide 

C. Al powder 

D. 

Answer: C

View Text Solution

H2 ( g )

42. Process to get pure metals from ores by removing

unwanted material or impurity is known as.... 

https://dl.doubtnut.com/l/_d2oMd8a28Gkh
https://dl.doubtnut.com/l/_Ua4XYoo8pZci


A. Metallurgy 

B. Electrolysis 

C. Reduction 

D. Purification 

Answer: A

View Text Solution

43. What is the main steps during obtaining metals from

ores? 

A. Concentration of metal 

B. Isolation of metals from concentrated ores 

C. Concentration of ores 

https://dl.doubtnut.com/l/_Ua4XYoo8pZci
https://dl.doubtnut.com/l/_Sr7lHhvDfFYx


D. All (A), (B) and (C) 

Answer: D

View Text Solution

44. What is the position of Aluminium metal among the

metals obtained from the earth crust? 

A.  Second 

B. Third 

C. Sixth 

D. Fourth 

Answer: B

Vi T t S l ti

https://dl.doubtnut.com/l/_Sr7lHhvDfFYx
https://dl.doubtnut.com/l/_wJvAbtcdcuBW


View Text Solution

45. Magnetite is a metal of.... 

A. Fe 

B. Zn 

C. Al

D. Cu 

Answer: A

View Text Solution

46. Calamine is which type of ore ? 

A. Carbonate ores of calcium 

https://dl.doubtnut.com/l/_wJvAbtcdcuBW
https://dl.doubtnut.com/l/_YKHVvzzmyVPi
https://dl.doubtnut.com/l/_j1cMK60Ux0rR


B. Sulphide ores of Mg 

C. Hydroxide ores of Zn 

D. Carbonate ores of Zn 

Answer: D

View Text Solution

47. Which ore of copper is iron free? 

A. Copper pyrites 

B. Copper glans 

C. Cuprite 

D. Malachite 

https://dl.doubtnut.com/l/_j1cMK60Ux0rR
https://dl.doubtnut.com/l/_kvtYEOtn6OfA


Answer: A

View Text Solution

48. What is the ore of zinc ? 

A. Haematite 

B. Copper pyrites 

C. Zinc blende 

D. Bauxite 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_kvtYEOtn6OfA
https://dl.doubtnut.com/l/_6qofMMHPbn8b


49. Metals obtained from sulphide ores are of least choice,

because.... 

A. these ores are costly. 

B. reduction of these ores are difficult. 

C. sulphur dioxide gas evolved from them causes

pollution. 

D. Both (B) and (C) 

Answer: D

View Text Solution

50. .......... is a carbonate ore. 

https://dl.doubtnut.com/l/_TAv1ZJXOZVA5
https://dl.doubtnut.com/l/_OOn5C726tpiS


A. Pyrolusite 

B. Malachite 

C. Casiterites 

D. Diaspores 

Answer: B

View Text Solution

51. ....... possess both copper and iron. 

A. Copper pyrites 

B. Chalcosites 

C. Malachite 

D. Cuprite 

https://dl.doubtnut.com/l/_OOn5C726tpiS
https://dl.doubtnut.com/l/_BBz5VA7BOCXH


Answer: A

View Text Solution

52. Arrange the following elements according to their

percentage proportion present in earth crust. 

A. Al  gt Ca gt Fe 

B. Al gt Fe gt Ca 

C. Ca gt Al gt Fe 

D. Fe gt Al gt Ca 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_BBz5VA7BOCXH
https://dl.doubtnut.com/l/_z4Lmu0DRXZbO
https://dl.doubtnut.com/l/_kSWeK9tPqZh1


53. When we can apply magnetic field in concentration of

ores? 

A. Both ores and gange possess attraction towards

magnetic field. 

B. Both ores and gange do not possess attraction

towards magnetic field. 

C. Either ores or gange, any one possess attraction

towards magnetic field. 

D. None of the above. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_kSWeK9tPqZh1
https://dl.doubtnut.com/l/_3lF6Xx3wejf5


54. Which substance is used as collector of sulphide ores in

froth floatation process ? 

A.  Fatty acid 

B. Pine oil 

C. Xenthate compounds 

D. All (A), (B) and (C) 

Answer: D

View Text Solution

55. Which substances are used as froth stabilizer in froth

floatation process ? 

A. Quinol, cresol 

https://dl.doubtnut.com/l/_3lF6Xx3wejf5
https://dl.doubtnut.com/l/_nJ8nTyhn52va


B. Cresol, aniline 

C. Pine oil, terpentine 

D. Quino, aniline 

Answer: B

View Text Solution

56. For ......... ores froth floatation process is used. 

A. Bauxite 

B. Cinnabar 

C. Haematite 

D. Horn silver 

https://dl.doubtnut.com/l/_nJ8nTyhn52va
https://dl.doubtnut.com/l/_J7B47fyQ9KyT


Answer: B

View Text Solution

57. 

then X = ……… 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

4Ag ( s ) + 8CN −
( aq )

+ 2H2O ( l ) = O2 ( g ) → X + OH −
( aq )

[Ag(CN)2]
−

[Ag(CN)4]
−

AgCN

[4Ag(CN)2]
−

https://dl.doubtnut.com/l/_J7B47fyQ9KyT
https://dl.doubtnut.com/l/_MAEtL73Tkj6F


58. Which complex is obtained on reaction of Ag with NaCN

? 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

[Ag(CN)2]
2 −

[Ag(CN)2]
−

[Ag(CN)] −

[Ag(CN)3]
−

59. Leaching of gold is carried out by..... 

https://dl.doubtnut.com/l/_MAEtL73Tkj6F
https://dl.doubtnut.com/l/_FVIIGQ3RYu8P
https://dl.doubtnut.com/l/_jKTl3pzGiKCo


A. 

B.  

C.  

D.  

Answer: B

View Text Solution

CaCN2

KCN

HCN

NaCN

60. How concentrate ores of tin containing FeCrO? 

A. Froth floatation 

B. Magnetic separation 

C. Gravitational separation 

D. Electrostatic precipitation 

https://dl.doubtnut.com/l/_jKTl3pzGiKCo
https://dl.doubtnut.com/l/_a6M5p9pI4fU7


Answer: B

View Text Solution

61. Matte is a mixture of.... 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Cu2S2 + FeS

Cu2S + Fe2S

CuS + FeS

Cu2S + FeS

https://dl.doubtnut.com/l/_a6M5p9pI4fU7
https://dl.doubtnut.com/l/_0LtSKxW1SEmG


62. Roasting is generally carried out in case of.... 

A. Silicate ores 

B. Oxide ores 

C. Carbonate ores 

D. Sulphide ores 

Answer: D

View Text Solution

63. Which of the following equation shows relation between

 and equilibrium constant K? 

A. 

ΔG∘

ΔG∘ = RT ln K

https://dl.doubtnut.com/l/_8eOOzQSaIoan
https://dl.doubtnut.com/l/_Hi9romVE90dZ


B. 

C. 

D.  

Answer: B

View Text Solution

ΔG∘ = − RT ln K

ΔG∘ = K
RT

n

K =
ΔG∘

RT ln

64. State the relation between  and equilibrium

constant.

A. 

B.  

C. 

D. 

E ∘
cell

E ∘
cell

= ln K
RT

nF

E ∘
cell

= − ln K
RT

nF

E ∘
cell

= − ln K
Rt

nF

E ∘
cell

= − ln K
nF

RT

https://dl.doubtnut.com/l/_Hi9romVE90dZ
https://dl.doubtnut.com/l/_xFmnFil9NAaD


Answer: A

View Text Solution

65. In which condition reaction become spontaneous ? 

A. Value of  and  is negative 

B. Value of  and  is positive 

C. Value of  is negative and  is positive 

D. Value of  is positive and  is negative 

Answer: D

View Text Solution

E ∘ ΔG∘

E ∘ ΔG∘

E ∘ ΔG∘

E ∘ ΔG∘

https://dl.doubtnut.com/l/_xFmnFil9NAaD
https://dl.doubtnut.com/l/_PXGfLDvt9Pti


66. When iron nail is placed in CuSO4 solution then.... 

A. oxidation of Fe is not possible. 

B. blue color of solution become faint. 

C. reduction of  is not possible. 

D. reduction of  is possible. 

Answer: B

View Text Solution

Cu2 +

Fe

67. Which of the following metal is purified by distillation

method ? 

A. Zn

https://dl.doubtnut.com/l/_12jlLxRht5ey
https://dl.doubtnut.com/l/_EjUxpvlrDFID


B.  

C. 

D. Both (A) and (B) 

Answer: D

View Text Solution

Hg

Pt

68. Which principle is used in chromatographic separation ? 

A. Adsorption 

B. Hydration 

C. Precipitation 

D. Decomposition 

https://dl.doubtnut.com/l/_EjUxpvlrDFID
https://dl.doubtnut.com/l/_TFo3nGEd8KIA


Answer: A

View Text Solution

69. Which of the following metal pairs can be purified by Van-

arkel method ? 

A. Zr and Ti 

B. Ga and In 

C. Ni and Fe 

D. Ag and Au 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_TFo3nGEd8KIA
https://dl.doubtnut.com/l/_2zKxSUSGOFLy
https://dl.doubtnut.com/l/_8T9V1kn0ZUV3


70. Which of the following metal is used as a thin foil in

cigarate packet? 

A. AI 

B. Mg 

C. Zn 

D. Cu 

Answer: A

View Text Solution

71. Which of the following metals are used in alloy like

deltametal? 

https://dl.doubtnut.com/l/_8T9V1kn0ZUV3
https://dl.doubtnut.com/l/_WCzxaVUKPzAC


A. Mg 

B. Zn 

C. Co 

D. Cu 

Answer: D

View Text Solution

72. Zinc obtained by reduction process from zinc oxide is

known by which name? 

A. Retort 

B. Speltor 

C. Blister copper 

https://dl.doubtnut.com/l/_WCzxaVUKPzAC
https://dl.doubtnut.com/l/_Y53EHqmzASOS


D. Constantan 

Answer: B

View Text Solution

73. Which metal is purified by electrolytic method ? 

A. Tin 

B. Silicon 

C. Zinc 

D. Mercury 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_Y53EHqmzASOS
https://dl.doubtnut.com/l/_lCpLUoA9gDhx


Section E Mcqs Asked In Competitive Exam

1. Lithopone, a white pigment, consists of 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ZnS and BaSO4

PbS and MgO

Al2O3 and CaCO3

BaSO4 and PbSO4

2. Bauxite, an ore of aluminium is purified by

https://dl.doubtnut.com/l/_Bb5MZSuw2pdX
https://dl.doubtnut.com/l/_3UvArvE8ry8X


A. Halls' process 

B. Serpek's process 

C. Bayer's process 

D. All of these 

Answer: D

View Text Solution

3. Which of the following is a sulphide ore ?

A. Carnallite 

B. Magnetite 

C. Copper pyrites 

D. Malachite 

https://dl.doubtnut.com/l/_3UvArvE8ry8X
https://dl.doubtnut.com/l/_dPeolRz1QVZ8


Answer: C

View Text Solution

4. An ore of potassium is

A. Carnallite 

B. Cryolite 

C. Bauxite 

D. Dolomite 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_dPeolRz1QVZ8
https://dl.doubtnut.com/l/_9w1HUiZncDOG


5. In the equation 

the metal M is....

A. Copper 

B. Iron 

C. Gold 

D. Zinc 

Answer: C

View Text Solution

4M + 8CN − + 2H2O + O2 → 4[M(CN)2]
−

+ 4OH −

6. Magnetic separation is used in the concentration of…

https://dl.doubtnut.com/l/_gujq7R2J0wjP
https://dl.doubtnut.com/l/_RwFzq4HteOcV


A. Copper pyrites 

B. Bauxite 

C. Cassiterite 

D. Cinnabar 

Answer: C

View Text Solution

7. The metal always found in the free state is .....

A. Au 

B. K 

C. Cu 

D. Na 

https://dl.doubtnut.com/l/_RwFzq4HteOcV
https://dl.doubtnut.com/l/_4k67jgT9O6FE


Answer: A

View Text Solution

8. For which ore of the metal, froth floatation process is used

for concentration ?

A. Horn silver 

B. Bauxite 

C. Cinnabar 

D. Haematite 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_4k67jgT9O6FE
https://dl.doubtnut.com/l/_GA0QcjTcaGDS
https://dl.doubtnut.com/l/_6K9T9vfxAnMG


9. Sulphide ores are generally concentrated by....

A. Froth floatation 

B. Roasting 

C. Magnetic separation 

D. Carbon reduction 

Answer: A

View Text Solution

10. In the extraction of copper from sulphide ore the metal is

formed by reduction of  with

A. 

Cu2O

FeS

https://dl.doubtnut.com/l/_6K9T9vfxAnMG
https://dl.doubtnut.com/l/_CHOf315hgjTl


B. 

C. 

D. 

Answer: A

View Text Solution

CO

Cu2S

SO2

11. In the process of extraction of gold roasted gold ore 

 


 


Identify the complexes [X] and [Y]

A. 

B. 

+CN − + H2O
O2

−−→ [X] + OH −

[X] + Zn → [Y ] + Au

X : − [Au(CN)2]
−

Y : [Zn(CN)4]
2 −

X : − [Au(CN)4]
3 −

Y : [Zn(CN)4]
2 −

https://dl.doubtnut.com/l/_CHOf315hgjTl
https://dl.doubtnut.com/l/_ONK10POaFzBd


C. 

D. 

Answer: A

View Text Solution

X : − [Au(CN)2]
−

Y : [Zn(CN)4]
4 −

X : − [Au(CN)4]
−

Y : [Zn(CN)4]
−

12. Which process of purification is represented by the

following scheme? 

A. Cupellation 

B. Zone refining 

C. Electrolytic refining 

D. Van Arkel process 

T i
( Impure )

+ 2I2

250 ∘ C
−−−→ T i4

1400 ∘ C
−−−→ T i

( Pure )
+ 2I2

https://dl.doubtnut.com/l/_ONK10POaFzBd
https://dl.doubtnut.com/l/_NOPRrMNaDMP8


Answer: D

View Text Solution

13. In Hall's process, the main reagent mixed with…

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

NaF

Na3AlF6

AlF3

AlF6

https://dl.doubtnut.com/l/_NOPRrMNaDMP8
https://dl.doubtnut.com/l/_Oy5iE5PpgBX7


14. A : Extraction of iron metal from iron oxide ore is carried

out by heating with coke. 

R: The reaction  is a

spontaneous process. 

A. Both assertion and reason are true and reason is the

correct explanation of assertion. 

B. Both assertion and reason are true but reason is not

the correct explanation of assertion. 

C. Assertion is true but reason is false. 

D. Assertion is false but reason is true. 

Answer: D

View Text Solution

Fe2O3 ( s ) → Fe ( s ) + O2 ( g )

3

2

https://dl.doubtnut.com/l/_fZxv2I46YAwP


15. Which of the following reaction is proper for ellingham's

diagram for graph of  vs T ? 

A.  

B. 

C. 

D.  

Answer: C

View Text Solution

ΔG∘

Mg +  O2 → MgO
1

2

2Ag + O2 → Ag2O
1

2

C ( g ) +   O2 ( g ) → CO2 ( g )

1

2

CO +  O2 ( g ) → CO ( g )

1

2

16. Consider the following reactions at  

(A)  


 


1000∘ C

Zn ( s ) +  O2 ( s ) → ZnO ( s )

1

2

ΔG∘ = − 360kJmol−

https://dl.doubtnut.com/l/_N4sb8SQiUPJX
https://dl.doubtnut.com/l/_4Td2o2APbGz0


(B)  


A. Zinc can be oxidised by carbon monoxide. 

B. Zinc oxide can be reduced by graphite.

C. Both statement (A) and (B) are true. 

D. Both statement (A) and (B) are false. 

Answer: B

View Text Solution

C(graphite) + O2 ( g ) → CO ( g )

1

2

ΔG∘ , = − 460Jmol− 1

17. Extraction of zinc from zinc blende is achieved

A. electrolytic reduction

B. roasting followed by reduction with carbon. 

https://dl.doubtnut.com/l/_4Td2o2APbGz0
https://dl.doubtnut.com/l/_eLHmVa6hzSYK


C. roasting followed by reduction with another metal. 

D. roasting followed by self reduction. 

Answer: B

View Text Solution

18. Carbon and Co gas are used to reduce which of the

following pairs of metal oxides for extraction of metals?

A. 

B. 

C. 

D. 

FeO, SnO

SnO, ZnO

BaO, Na2O2

FeO, ZnO

https://dl.doubtnut.com/l/_eLHmVa6hzSYK
https://dl.doubtnut.com/l/_yIm71vfuRD2m


Answer: D

View Text Solution

19. Identify the reaction that does not take place in a blast

furnace.

A.  

B.  

C. 

D. 

Answer: C

View Text Solution

2Fe2O3 + 3C → 4Fe + 3CO2

CO2 + C → 2CO

CaO + SiO2 → CaSiO3

CaO + SiO2 → CaSiO3

https://dl.doubtnut.com/l/_yIm71vfuRD2m
https://dl.doubtnut.com/l/_Ex4hZqo8Vl0L
https://dl.doubtnut.com/l/_4hsnke8krGzJ


20. The method not used in metallurgy to refine the impure

metal is .......

A. Mond's Process 

B. Van-Arkel process 

C. Amalgamation process 

D. Zone-refining 

Answer: C

View Text Solution

21. The auto-reduction process is not used in the metallurgy

of…

https://dl.doubtnut.com/l/_4hsnke8krGzJ
https://dl.doubtnut.com/l/_tLiPQ9vs4vQ0


A. Hg 

B. Cu 

C. Pb 

D. Fe

Answer: D

View Text Solution

22. The incorrect statement among the following

A. hydrogen is used to reduce NiO 

B. zirconium is refined by Van-Arkel method 

C. the sulphide ore galena is concentrated by froth

floatation process 

https://dl.doubtnut.com/l/_tLiPQ9vs4vQ0
https://dl.doubtnut.com/l/_zDmmm3iHmPtF


D. in the metallurgy of iron, the Flux used is  

Answer: D

View Text Solution

SiO2

23. The temperature of the Slag zone in the metallurgy of

iron using blast furnace is…

A. 

B. 

C. 

D. 

Answer: C

Vi T t S l ti

1500– 1600∘ C

400– 700∘ C

800 − 1000∘ C

1200 − 1500∘ C

https://dl.doubtnut.com/l/_zDmmm3iHmPtF
https://dl.doubtnut.com/l/_1vIueVhnmW6m


View Text Solution

24. Bauxite ore is made up of 

. This ore is treated with

conc. NaOH solution at 500 K and 35 bar pressure for few

hours and filtered. The species present in it are... 

A. 4 only

B.  only 

C.  and  both 

D.  only 

Answer: C

View Text Solution

Al2O3 + SiO2 + T iO2 + Fe2O3

NaAl(OH)

NaT i(OH)6

NaAl(OH)4 Na2SiO3

Na2SiO3

https://dl.doubtnut.com/l/_1vIueVhnmW6m
https://dl.doubtnut.com/l/_4yzErOODwWsE
https://dl.doubtnut.com/l/_sVaOsaU0KYvp


25. Which of the processes is used in thermite welding?

A. 

B.  

C. 

D.  

Answer: D

View Text Solution

T iO2 + 4Na → T i + 2Na2O

2Al + Fe2O3 → Al2O3 + 2Fe

SnO + 2C → Sn + 2Co

Cr2O3 + 2Al → Al2O3 + 2Cr

26. Which of the following methods is used for obtaining

aluminium metal ? 

A. Electrolysing fused  and Cryolite Al2O3

https://dl.doubtnut.com/l/_sVaOsaU0KYvp
https://dl.doubtnut.com/l/_RlKoPMyLBPGi


B. By heating  with carbon 

C. By heating  in Muffle furnace 

D. By a process called pyrometallurgy 

Answer: A

View Text Solution

AlO _ 3

Al2O3

27. German silver is an alloy of…

A. Copper, Zinc, Silver 

B. Copper, Zinc and Nickel 

C. Copper, Zinc and Tin 

D. Manganese, Chromium and Ni 

https://dl.doubtnut.com/l/_RlKoPMyLBPGi
https://dl.doubtnut.com/l/_TtuKSf1VYgDX


Answer: B

View Text Solution

28. In athe extraction of copper, the copper matte is a

mixture is

A. Copper (II) Sulphide and iron (II) Sulphide

B. Copper (II) Sulphide and iron (II) Sulphide

C. Copper (I) Sulphide and iron (II) Sulphide  

D. Copper (I) Sulphide and iron (II) Sulphide

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_TtuKSf1VYgDX
https://dl.doubtnut.com/l/_8JbKW258yNka
https://dl.doubtnut.com/l/_7Biwdzp2Iccj


29. In the electrolytic refining of zinc.....

A. graphite is at the anode.

B. the impure metal is at the cathode.

C. the metal ion gets reduced at the anode.

D. acidified zinc sulphate is the electrolyte.

Answer: D

View Text Solution

30. According to Ellingham diagram, the oxidation reaction

on the carbon to carbon monoxide may be used to reduce

which one of the following oxides at the lowest temperature

?

https://dl.doubtnut.com/l/_7Biwdzp2Iccj
https://dl.doubtnut.com/l/_Ig1gZIFy4coS


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Al2O3

Cu2O

MgO

ZnO

31. The formula of siderite is.....

A. 

B. 

C. 

D. 

Fe2O3

Fe3O4

FeS2

FeCO3

https://dl.doubtnut.com/l/_Ig1gZIFy4coS
https://dl.doubtnut.com/l/_tsokifjwmeUM


Answer: D

View Text Solution

32. The metal used to recover copper from a solution of

copper sulphate is......

A. Na

B. Fe

C. Hg

D. Ag

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_tsokifjwmeUM
https://dl.doubtnut.com/l/_u3uneTLtGvNs
https://dl.doubtnut.com/l/_NGVVFkwqUWqu


33. Which of the following represents the composition of

Carnallite mineral ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

KNO3

K2O ⋅ Al2O3 ⋅ 6SiO2

K2SO4 ⋅ MgSO4 ⋅ MgCl2 ⋅ 6H2O

KCl ⋅ MgCl2 ⋅ 6H2O

34. Bauxite has the composition

A. Al2O3

https://dl.doubtnut.com/l/_NGVVFkwqUWqu
https://dl.doubtnut.com/l/_dU7q604En1lA


B.  

C. 

D.  None of these 

Answer: B

View Text Solution

Al2O3 ⋅ 2H2O

Al2O3 ⋅ 2H2O

35. Oxidation states of the metal in the minerals haematite

and magnetite, respectively, are....

A. II, III haematite and III in magnetite. 

B. II, III in haematite and II in magnetite. 

C. II in haematite and II, III in magnetite. 

D. III in haematite and II, III in magnetite. 

https://dl.doubtnut.com/l/_dU7q604En1lA
https://dl.doubtnut.com/l/_g1Pk3wthE1SD


Answer: D

View Text Solution

36. Which of the following is not the correct match ? 

A. Leaching : Ag 

B. Zone refining : Sn 

C. Liquation : Pb 

D. Van Arkel : Zr 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_g1Pk3wthE1SD
https://dl.doubtnut.com/l/_aszZarS4m6oH


37. Oil used as frothing agent in froth floatation process is

............

A. Pine oil 

B. Olive oil 

C. Mustard oil 

D. Turpentine oil 

Answer: A

View Text Solution

38. The first step in the extraction of copper is.... 

A. reduction of copper(I) oxide with copper(I) oxide. 

https://dl.doubtnut.com/l/_5MCIRbkjIEH0
https://dl.doubtnut.com/l/_aMmKidhbN0VE


B. roasting of copper(I) oxide. 

C. heating ore with coke. 

D. reduction with iron. 

Answer: B

View Text Solution

39. Which process is used in smelting during metallurgy of

copper.

A. Self reduction of copper 

B. Reduction of Fe 

C. FeS is converted into FeO

D.  is converted into Cu2S Cu2O

https://dl.doubtnut.com/l/_aMmKidhbN0VE
https://dl.doubtnut.com/l/_5BvYSDHmUmpv


Section E Mcqs Asked In Jee Neet Aieee

Answer: C

View Text Solution

1. Which of the following metal is leached by cyanide

process?

A. Ag 

B. Na 

C. AI 

D. Cu 

Answer: A

https://dl.doubtnut.com/l/_5BvYSDHmUmpv
https://dl.doubtnut.com/l/_AFT6cTtbRC12


View Text Solution

2. Which of the following ores is best concentrated by froth

floatation method ? 

A. Magnetite 

B. Siderite 

C. Galena 

D. Malachite 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_AFT6cTtbRC12
https://dl.doubtnut.com/l/_ZECXzBvmIV11


3. During the process of electrolytic refining of copper, some

metals present as impurity settle as "anode mud." These are

......

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Sn and Ag

Pb and Zn

Ag and Au

Fe and Ni

4. Heating   will give :Cu2O and Cu2S

https://dl.doubtnut.com/l/_FaWFUfbnHB6j
https://dl.doubtnut.com/l/_3tG1ekUKFWMI


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Cu + SO2

Cu  + SO3

CuO + CuS

Cu2SO3

5. Which of the following statements, about the advantage

of roasting of sulphide ore before reduction is not true?

A. The    of the sulphide is greater than those for ΔG∘

CS2 and H2S.

https://dl.doubtnut.com/l/_3tG1ekUKFWMI
https://dl.doubtnut.com/l/_TYMq1sAwFC3V


B. The  is negative for roasting of sulphide ore to

oxide. 

C. Roasting of the Sulphide to the oxide is

thermodynamically feasible. 

D. Carbon and hydrogen are suitable reducing agents for

metal sulphide. 

Answer: D

View Text Solution

ΔG∘

6. Sulphide ores of metals are usually concentrated by froth

floatation process. Which one of the following sulphide ores

https://dl.doubtnut.com/l/_TYMq1sAwFC3V
https://dl.doubtnut.com/l/_jZfuNpCp6cJy


offers an exception and is concentrated by chemical

leaching?

A. Galena 

B. Copper pyrite 

C. Sphalerite 

D. Argentite 

Answer: D

View Text Solution

7. In aluminothermic process, Al is used as....

A. reducing agent 

B. oxidising agent 

https://dl.doubtnut.com/l/_jZfuNpCp6cJy
https://dl.doubtnut.com/l/_QMQqidrebuW9


C. catalyst 

D. electrolyte 

Answer: A

View Text Solution

8. Impurities present in the ore react with a substance to

from a fusible product known as....

A. flux 

B. gangue 

C. nugget 

D. mineral 

https://dl.doubtnut.com/l/_QMQqidrebuW9
https://dl.doubtnut.com/l/_kHLx1OlH6acS


Answer: A

View Text Solution

9. Which of the following pairs of metals is purified by Van-

Arkel method. 

A. Ga and In 

B. Zr and Ti 

C. Ag and Au 

D. Ni and Fe 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_kHLx1OlH6acS
https://dl.doubtnut.com/l/_VA45pYUALfif
https://dl.doubtnut.com/l/_eZRAkxYtLq6g


10. Which of the following elements is present as the

impurity to the maximum extent in the pig iron?

A. Manganese 

B. Carbon 

C. Silicon 

D. Phosphorus 

Answer: B

View Text Solution

11. In view of the sign of  for the following reactions 


 


 


ΔG∘

PbO2 + Pb → 2PbO, ΔG∘ < 0

SnO2 + Sn → 2SnO, ΔG∘ > 0

https://dl.doubtnut.com/l/_eZRAkxYtLq6g
https://dl.doubtnut.com/l/_s1srLkCk7LPY


Which oxidation states are more characteristic for lead and

tin ?

A. For lead + 2, for tin + 2 

B. For lead + 4, for tin + 4 

C. For lead + 2, for tin + 4 

D. For lead + 4, for tin + 2 

Answer: B

View Text Solution

12. The following reactions take place in the blast furnace in

the preparation of impure iron. Identify the reaction

pertaining to the formation of the slag. 

https://dl.doubtnut.com/l/_s1srLkCk7LPY
https://dl.doubtnut.com/l/_q2hJuTNgd6mc


A.  

B.  

C.  

D. 

Answer: C

View Text Solution

Fe2O3 ( s )   + 3CO ( g ) → 2Fe ( l ) + 3CO2 ( g )

CaCO3 ( s ) → CaO + CO2 ( g )

CaO ( s ) + SiO2 ( s ) → CaSiO3 ( s )

2C ( s ) + O2 ( g ) → 2CO ( g )

13. Which method of purification is represented by the

following equation ?  

A. Cupellation 

B. Poling 

T i ( s ) + 2I2 ( g )

525K
−−→ T il ( g )

1700K
−−−→ T i ( s ) + 2I2 ( g )

https://dl.doubtnut.com/l/_q2hJuTNgd6mc
https://dl.doubtnut.com/l/_wVBuS0wlFR8Q


C. Van Arkel 

D. Zone refining 

Answer: C

View Text Solution

14. Calamine is an ore of .........

A. AI 

B. Cu 

C. Zn 

D. Fe 

Answer: C

https://dl.doubtnut.com/l/_wVBuS0wlFR8Q
https://dl.doubtnut.com/l/_6Y5KVUh6zDHE


View Text Solution

15. In the isolation of metals, calcination process usually

results in .........

A. Metal carbonate 

B. Metal hydroxide 

C. Metal sulphide 

D. Metal oxide 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_6Y5KVUh6zDHE
https://dl.doubtnut.com/l/_QLjbx6u0G7qj


16. 'Metals are usually not found as nitrates in their ores.''

Out of the following two (I and II) reasons which is / are true

for the above observation ? 

(I) Metal nitrates are highly unstable 

(II) Metal nitrates are highly soluble in water

A. I is false but II is true

B. I and II are false 

C. I is true but II is false 

D. I and II are false    

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_Me9DIOTrmiKN


17. Extraction of copper by smelting uses silica as an additive

to remove ........

A.  

B.  

C. 

D. 

Answer: A

View Text Solution

FeO

Cu2S

FeS

Cu2O

18. The following reaction occurs in the blast furnace where

iron ore is reduced to iron metal:

 
Fe2O3 ( s ) + 3CO ( g ) ⇔ 2Fe ( l ) + 3CO2 ( g )

https://dl.doubtnut.com/l/_nv5vqEYOCro1
https://dl.doubtnut.com/l/_wFjRo0M1LQqI


Using, Le-chatlier's principle, predict which of the following

will not disturb the equilibrium.

A. Addition of 

B. Removal of 

C. Removal of 

D. Removal of CO 

Answer: B

View Text Solution

CO2

Fe2O3

CO2

19. Extraction of gold and silver involves leaching with CN^(-)

ion. Silver is latter recovered by.... 

A. Displacement with zinc

https://dl.doubtnut.com/l/_wFjRo0M1LQqI
https://dl.doubtnut.com/l/_Efclw2Yx6HUl


B. Liquation 

C. Zone refining 

D. Distillation 

Answer: A

View Text Solution

20. Considering Ellingham diagram, which of the following

metals can be used to reduce alumina ?

A. Fe 

B. Zn 

C. Mg 

D. Cu 

https://dl.doubtnut.com/l/_Efclw2Yx6HUl
https://dl.doubtnut.com/l/_C7eS8rgPlpwM


Answer: C

View Text Solution

21. In the extraction of copper from its sulphide ore, metal is

finally obtained by the oxidation of cuprous sulphide with

..........

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

CO

Cu2O

Fe2O3

SO2

https://dl.doubtnut.com/l/_C7eS8rgPlpwM
https://dl.doubtnut.com/l/_qWhl7SoboBA7


22. The correct statement regarding the given Ellingham

diagram is ......... 

 

A. At , Al can be used for the extraction of zinc. 

B. At , coke can be used for extraction of Zn from

ZnO. 

C. Coke can not be used for the extraction of Cu from

D. At , Cu can be used for extraction of Zn from

ZnO. 

Answer: A

Vi T t S l ti

1400∘ C

500∘ C

Cu2O

800∘ C

https://dl.doubtnut.com/l/_qWhl7SoboBA7
https://dl.doubtnut.com/l/_zU8yvXyoHTkh


View Text Solution

23. Match the ores (column-A) with the metals (column-B). 

A. A – (2), B – (3), C - (4), D - (1) 

B. A - (3), B - (4), C- (1), D - (2) 

C. A - (3), B – (4), C- (2), D - (1) 

D. A - (1), B - (2), C- (3), D - (4) 

Answer: C

View Text Solution

24. Which one is malachite from the following ?

https://dl.doubtnut.com/l/_zU8yvXyoHTkh
https://dl.doubtnut.com/l/_rNjbrIEVCtUW
https://dl.doubtnut.com/l/_gPf9CsY11P6Z


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

CuCO3 ⋅ Cu(OH)2

CuFeS2

Cu(OH)2

Fe3O4

25. The purest form of commercial iron is :

A. Cast iron 

B. Wrought iron 

C. Pig iron 

D. None of these 

https://dl.doubtnut.com/l/_gPf9CsY11P6Z
https://dl.doubtnut.com/l/_tSW6h9q59TgC


Section E Mcqs Asked In Gujet Board Exams

Answer: B

View Text Solution

1. During electrolysis of aqueous solution of  using

graphite electrode .........

A. Concentration of  decreases. 

B. Concentration of  remains constant. 

C. Concentration of  increases. 

D. Concentration of  first increases and then

decreases. 

Na2SO4

Na2SO4

Na2SO4

Na2SO4

Na2SO4

https://dl.doubtnut.com/l/_tSW6h9q59TgC
https://dl.doubtnut.com/l/_aUm6G2Uaunvu


Answer: C

View Text Solution

2. Which of the following is the alloy of Sn ?

A. Bronze 

B. Brass 

C. German Silver 

D. Stainless steel 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_aUm6G2Uaunvu
https://dl.doubtnut.com/l/_eycHmHjAEvdp


3. Which of the following metal is purified by Mond Carbonyl

method ?

A. Zr 

B. Ti 

C. Ge 

D. Ni 

Answer: D

View Text Solution

4. Which method is used to get very pure germanium used

in semiconductor ?

https://dl.doubtnut.com/l/_tttjHVu1UJNO
https://dl.doubtnut.com/l/_JBXvpWuaNym5


A. Electrolysis 

B. Vapour-phase refining 

C. Liquation 

D. Zone - refining 

Answer: D

View Text Solution

5. Which compound is added as foam stabiliser in froath

floatation process?

A. Toluene 

B. Benzene 

C. Aniline 

https://dl.doubtnut.com/l/_JBXvpWuaNym5
https://dl.doubtnut.com/l/_1U2X7wVlaPtQ


D. Benzoic acid 

Answer: C

View Text Solution

6. Which metal is purified by liquation method ?

A. Sn 

B. Si 

C. Ni 

D. Cu 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_1U2X7wVlaPtQ
https://dl.doubtnut.com/l/_TOfv6IVN9YgT


7. Which of the following process is for purification of

metals?

A. Leaching 

B. Washing 

C. Liquidation 

D. Froath floatation 

Answer: C

View Text Solution

8. Which of the following is the Ore of Cu ?

A. Magnetite 

https://dl.doubtnut.com/l/_xNMaovTmA7yc
https://dl.doubtnut.com/l/_dRIgEfJt0pco


B. Malachite 

C. Calamine 

D. Ciderite 

Answer: B

View Text Solution

9. Heating pyrites in air to remove sulphur is known as

A. Roasting 

B. Calcination 

C. Smelting 

D. Bessemerisation 

https://dl.doubtnut.com/l/_dRIgEfJt0pco
https://dl.doubtnut.com/l/_YkdjbdKSiif6


Answer: A

View Text Solution

10. Why does copper become brittle during thermal refining

? 

A. Because it produces gas like methane. 

B. Because coal is spread on fluid copper. 

C. Because cuprous oxide is produced, which dissolves in

copper. 

D. Because of destructive distillation of branches. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_YkdjbdKSiif6
https://dl.doubtnut.com/l/_PYhiVPcLF1qE


11. Four equations are given below. Decide if they are

correctly balanced or not. 

(T for true and F for false)  

(i)  


(ii)  


(iii)  


(iv) 

A. T T T T 

B. T T T F 

C. T F T F 

D. T T F T

Answer: A

MxOy + Y C → xM + Y CO

2Al2O3 + 3C → 4Al + 3CO2

FeO + SiO2 → FeSiO3

Cu2S + 2Cu2O → 6Cu + SO2

https://dl.doubtnut.com/l/_PYhiVPcLF1qE
https://dl.doubtnut.com/l/_2lV6UjRqGnCY


View Text Solution

12. Decide X, Y and Z correctly from the given options in the

following sentences. 

(i) Thermal refining process is used for the refining of X

metal. 

(ii) Zone refining process is used for purification of Y. 

(iii) Dyes can be separated by Z. 

A. X = Iron, Y = Ge, Z = Mond Carbonyl process 

B. X = Iron, Y = Ge, Z = Van Arkel method 

C. X = Copper, Y = Si, Z = Chromatographic method 

D. X = Copper, Y = Si, Z = Liquation 

Answer: C

https://dl.doubtnut.com/l/_2lV6UjRqGnCY
https://dl.doubtnut.com/l/_za0EwlGAAC7c


View Text Solution

13. The mixture of which of the following is called "Matte"?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

FeO and SiO2

PbS and Zns

Cu2S and FeS

Cu2S and SO2

14. What is the other name of Halic(VII) acid ?

https://dl.doubtnut.com/l/_za0EwlGAAC7c
https://dl.doubtnut.com/l/_fAJpcdF49XmQ
https://dl.doubtnut.com/l/_w6Nm1841mPAW


A. Halic acid 

B. Hypo Halous acid 

C. Halous acid 

D. Per Halic acid 

Answer: C

View Text Solution

15. By which method oxygen and nitrogen present in the

form of impurities in Zirconium are removed ?

A. Van Arkel 

B. Roasting 

C. Liquation 

https://dl.doubtnut.com/l/_w6Nm1841mPAW
https://dl.doubtnut.com/l/_eQ6Zmyz2nqmg


D. Distillation 

Answer: A

View Text Solution

16. Which of the following is not a method of concentration

of Ores?

A. Froth floatation 

B. Calcination 

C. Leaching 

D. Hydraulic washing 

Answer: B

Vi T t S l ti

https://dl.doubtnut.com/l/_eQ6Zmyz2nqmg
https://dl.doubtnut.com/l/_B5LVqaWdqU7D


View Text Solution

17. Zone refining is used to produce very pure.

A. Cu 

B. Si 

C. Na 

D. Zn 

Answer: B

View Text Solution

18. An aqueous solution of  is isotonic to which

of the following aqueous solutions ?

0.1MFeCl3

https://dl.doubtnut.com/l/_B5LVqaWdqU7D
https://dl.doubtnut.com/l/_ncnun0uECVns
https://dl.doubtnut.com/l/_FHp63LmqKYK7


A. 

B. 

C. 

D. 

Answer:

View Text Solution

0.4NBaCl2

0.4NAl2(SO4)3

0.4NNa3PO4

0.4NNaCl

19. In the thermal refining silicates of which metals float as

slag on copper ?

A. Ag, Au & Pt 

B. Fe, Bi & Zn 

C. Si, As & Bi 

https://dl.doubtnut.com/l/_FHp63LmqKYK7
https://dl.doubtnut.com/l/_JUIxAFySCXFo


D. Sb, Bi & Pt 

Answer: B

View Text Solution

20. Which of the following acts as a reducing agent in Hall-

Heroult process ?

A. 

B.  

C. Graphite 

D. 

Answer: C

Vi T t S l ti

Na3AlF6

CaF2

Al2O3

https://dl.doubtnut.com/l/_JUIxAFySCXFo
https://dl.doubtnut.com/l/_zvFPM8axfV4H


View Text Solution

21. The limiting molar conductivities of

 are 150, 126 and 109  

respectively. What is the limiting molar conductivity of

 ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

KCl, NaCl and KNO3 Scm2mol− 1

NaNO3

385SCm2mol− 1

167SCm2mol− 1

85SCm2mol− 1

133SCm2mol− 1

https://dl.doubtnut.com/l/_zvFPM8axfV4H
https://dl.doubtnut.com/l/_SlFCKHK4zdiN
https://dl.doubtnut.com/l/_uXuA6pOOQxYB


22. Mention the reaction representing example of leaching.

A.  

B. 

C. 

 

D. 

Answer: C

View Text Solution

3Fe2O3 + CO → 2Fe3O4 + CO2

Cu2S + 3O2 → 2Cu2O + 2SO2

4M + 8CN − + 2H2O + O2 → 4[M(CN)2]
−

+ 4OH −

ZnCO3

Δ
−−→ ZnO ( s ) + CO2 ( g )

23. What is called the study of metallurgy with change in

temperature ?

https://dl.doubtnut.com/l/_uXuA6pOOQxYB
https://dl.doubtnut.com/l/_vmytdUnrH6vS


A. Pyrometallurgy 

B. Metallo metallurgy 

C. Ferrometallurgy 

D. Thermo metal 

Answer: A

View Text Solution

24. Which metal is used in galvanizing ? 

A. Zinc 

B. Aluminium 

C. Iron 

D. Copper 

https://dl.doubtnut.com/l/_vmytdUnrH6vS
https://dl.doubtnut.com/l/_Laayof8bR1Pi


Answer: A

View Text Solution

25. ''Matte'' is a mixture of ........ 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Cu2S + ZnS

PbS + ZnS

Cu2S + FeS

FeO + SiO2

https://dl.doubtnut.com/l/_Laayof8bR1Pi
https://dl.doubtnut.com/l/_Z8xOFVy03lRH


26. Read the following statement and choose the correct

option. 

(1) Alnico and aluminium bronze are used in preparation of

parts of the aeroplanes. 

(2) Copper is used in the preparation of tubes of boiler,

Deltametal and Muntz metal. 

(3) Copper and Aluminium forms alloys like duralumin and

aluminium bronze. 

(4) Copper and Zinc are used in the preparation of German

Silver. 

A. T F T T 

B. T T F T 

C. T F F T 

D. T F T F

https://dl.doubtnut.com/l/_fz4IWSfldJp7


Answer: B

View Text Solution

27. Which is the ore of iron ? 

A. Calamine 

B. Haematite 

C. Bauxite 

D. Malachite 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_fz4IWSfldJp7
https://dl.doubtnut.com/l/_IVFtbDSMBeE0


28. Gemstone is the impure form of which compound? 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Al2O3

Cu2O

Cr2O3

Mn2O3

29. By which substance silver is leached ? 

A.  

B. 

KCN

NaCN

https://dl.doubtnut.com/l/_gV7ITlgaETuw
https://dl.doubtnut.com/l/_fS6GnC0tkbrU


C. 

D. 

Answer: B

View Text Solution

Zn(CN)2

[Zn(CN)4]
2 −

30. Which substance is used as adsorbent in

chromatographic method ? 

A. 

B. 

C. 

D. All the given 

Al2O3

SiO2

MgO

https://dl.doubtnut.com/l/_fS6GnC0tkbrU
https://dl.doubtnut.com/l/_VDSH2S45eysT


Answer: A

View Text Solution

31. Which metal is mainly present in the impure form in Cu

obtained by Bessemerisation process ? 

A. S 

B. Fe

C. Pt 

D. (A) and (B) 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_VDSH2S45eysT
https://dl.doubtnut.com/l/_ePGkDgycdegy
https://dl.doubtnut.com/l/_GTJL70OXfJK7


32. Which metal is used in preparation of tubes of boiler?

A. Mg 

B. Cu 

C. Pt 

D. Ni 

Answer: B

View Text Solution

33. Which of the following pairs is proper for the method

used in Column - I and metal obtained in Column-II ? 

Column -I Column-II

(P) Distillation (X) Cu

(Q) Smelting (Y) Hg

(R )Electrolysis (Z) Sn

https://dl.doubtnut.com/l/_GTJL70OXfJK7
https://dl.doubtnut.com/l/_gy13mlq2caOu


A.  

B. 

C. 

D. 

Answer: B

View Text Solution

P → X, Q →  Y , R → Z

P → Y , Q → Z, R → X

P → Y , Q →  X, R → Z

P → Z, Q → X, R → Y

34. Select the suitable choice by comparing Column-I with II.

Column-I Column-II

(X) Cryolite (M)Na[Al(OH4)]

(Y) Sodium-Aluminate (N)[Al2(OH)4, Si2O3]

(Z) Kaolinite (P )Na[Al2(OH)3Si2O3]

(Q)Na[Al2(OH)3Si2O3]

(R)Na3[AlF4]

https://dl.doubtnut.com/l/_gy13mlq2caOu
https://dl.doubtnut.com/l/_cSbm0mulYj2O


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

X → R, Y → P , Z → Q

X → R, Y → Q, Z → N

X → R, Y → M, Z → N

X → R,  Y → P , Z → N

35. Match Column-A and Column-B. 

A. 

B. 

     A       B

(P)Distillation (x) Titanium

(Q) Van arkel (Y) Zinc

(R ) Mond carbonyl (Z) Nickel

P → X, Q → Y , R → Z

P → Z, Q → Y , R → X

https://dl.doubtnut.com/l/_cSbm0mulYj2O
https://dl.doubtnut.com/l/_vEMbW6vw7HIp


C. 

D. 

Answer: C

View Text Solution

P → Y , Q → Z, R → Z

P → Y , Q → Z, R → X

36. The impurity of which element is present in Ruby and

Sapphire respectively. 

A. Cd, Cr 

B. Cr, Cd 

C. Sr, Br 

D. Ni, Cu 

https://dl.doubtnut.com/l/_vEMbW6vw7HIp
https://dl.doubtnut.com/l/_eW4KgijqcN6D


Answer: B

View Text Solution

37. Zirconium can be refined by using.... 

A. Zone refining 

B. Van Arkel method 

C. Mond carbonyl process 

D. Liquation 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_eW4KgijqcN6D
https://dl.doubtnut.com/l/_95twNTXC0Cbd


38. What is IUPAC name of  ?

A. Sodium aluminium hydroxide. 

B. Sodium tetra hydro aluminate (III) 

C. Sodium tetra hydro aluminate (II) 

D. Sodium aluminate. 

Answer: B

View Text Solution

Na[Al(OH)4]

39. Which sulphide ore removed by adding NaCN as

depressant in froth floatation method ?  

A. PbS + CuS

https://dl.doubtnut.com/l/_h8EcZGybskaB
https://dl.doubtnut.com/l/_23wyACu9QdZD


B. 

C. 

D. All the given 

Answer: C

View Text Solution

CuS + ZnS

ZnS + PbS

40. What would be the change in no. of electron, when silver

and gold is obtained by eduction of its ion on adding Zinc

respectively ? 

A. (2, 1)

B. (1, 3) 

C. (2, 2) 

https://dl.doubtnut.com/l/_23wyACu9QdZD
https://dl.doubtnut.com/l/_eimKTzEYRw6Y


D. (3, 1) 

Answer: C

View Text Solution

41. The Zinc metal that we get on commercial basis is

called....

A. Zincite 

B. Blister 

C. Spelter 

D. None of these 

Answer: C

Vi T t S l ti

https://dl.doubtnut.com/l/_eimKTzEYRw6Y
https://dl.doubtnut.com/l/_uXvEMffIM3zU


View Text Solution

42. Which of the following ore is oxide ore ? 

A. Malachite 

B. Cuprite 

C. Calamine 

D. Zinc blende 

Answer: B

View Text Solution

43. Which of the following two substances react to form

Blister copper? 

https://dl.doubtnut.com/l/_uXvEMffIM3zU
https://dl.doubtnut.com/l/_HTPIHWWHDKWF
https://dl.doubtnut.com/l/_yqcDUh4kVDMJ


A. 

B.  

C. 

D. 

Answer: B

View Text Solution

Cu2 + FeS2

Cu2S + O2

Cu2O + FeS

Cu2S + Cu2O

44. Which method is used in refining of Titanium method ? 

A. Zone refining 

B. Mond carbonyl 

C. Frasch method 

D. Van Arkel 

https://dl.doubtnut.com/l/_yqcDUh4kVDMJ
https://dl.doubtnut.com/l/_XfSnxaZwsGw7


Answer: D

View Text Solution

45. Which metal can be purified by liquation ? 

A. Tin 

B. Iron 

C. Lead 

D. Nickel 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_XfSnxaZwsGw7
https://dl.doubtnut.com/l/_9gIOge3Q5nMX


46. Which method is not used for concentration of ores ? 

A. Magnetic seperation 

B. Froth floatation 

C. Smelting 

D. Hydraulic washing of complex 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_PvAk1Prb92ca

